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Beginning vith the 1981 model year, all vehicles with & CVW rating of 10,000 pounas

or less, have a 17 character fixed format VIH, with a check digit vithin the muaber.

. This applies to passenger cars, wulti-purpose passenger vehicles, trucks, buses,

trailers, incomplete vehicles, and wotorcycles. The first three characters of the QPQs
VIN identify the nation of origin, manufacturer, make and type of vehicle. The next

five charscters uniquely fdentify the attributes of the vehicle such as wodel, body,

engine type, and reatraint systen. The ninth charscter fs the CHLCK DIGIT and 1is

intended to verify the accuracy of the VIN. The tenth character represents the

vshicle wodel year; the eleventh represents the plant of manufacture; and the lest

. 81x €haracters represeat the sequential production mn:nr.(See your NATE msnual).

: Rale
The following table and procedure will enaple ‘you toldecode the VIN's “CHECK DIRTT®.
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- On 1ine "A" enter the 17 digit VIN. On line "B” enter the “assigned

- valua" of each character of the VIN, utilizing table "B, shown below.
Multiply the numbers in line "B" by the nuzbers in line “C", for each n' S
T the 17 dgits in the VIN. Record the product of each of these separste

-omputations in the appropriste boxes in line "D". Add together all of

" the numbers recorded in line "D" and enter the final sum in the space

.. provided. Divide the final sum by the nusber "11%. The remainder of this

“ divimion ia the "CHECK DICIT" (the 9th character of the 17 digit VIN).

;. '1f the remainder of this division is s single digit number, thea it should - -
~match the "CHECK DIGIT" in the VIN exactly; if the remainder is the mmber
"10", then the "CHECK DIGIT" is the letter “X". o

e TABLE 3" ,
1 Jel T3 1e1 6=6  Assign to sach musber in the VIN its sctusl value and

“Rel Ung 2e2 7w} racord that value in the appropriate box im line “B".
L=3 Vu§ 3a3 B=8 .

Hed' U=6 4=4 9»9 - The letters of "I", “0" & "Q" are naver used is the
NeS - Xu? Sw$ 0«0 new 17 digit VIN'S,

Pe7 YoB . :

Reg 2=9

» determine the year of sanufacture from the 17 digit VIN (character #10 of the VIN)
uve the following: ; L

1982e¢ 1984k | 1986~C

’ 1983=D 0 108SsR o . 1987«N  Ete.
Exsuple: 1981 Pord Mustang VIN - 1FABPI2A4BR101093 ~ Pinal Sum = 246 22
S , _ , 11 [ 746

4 22
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